	NAME: _____________
	Prob and Stats

	Problem day – graded as quiz
	DATE: Friday, March 30, 2012


You are going to get 3 letters randomly from A-Z. (lets say y is  a vowel)  The letters can be chosen twice.  So you could have 3 As

	P(3 vowels)
	P(no vowels):



	P (at least 1 vowel):
	P(at least 1 consonant):


Return to Blackjack

Lets say you are playing with the dealer, alone one night in the casino:

The dealer is showing a Queen.  You have a jack and a 9.  You stay as you have 19.  Find on his  next card:

	1. P(you winning)
	2. P(you losing)
	3. P(push)


On the next hand, you get a Jack and a 5.  The dealers is showing a Ace.  On the next card

	4. P(bust)
	5. P(19,20 or 21)
	6. P(less than 19)


One option is when the dealer gets an ace, you can take insurance against him getting blackjack.  Lets say he has an Ace, find the probability that he has blackjack given:

	7. P(you have 2 face cards)
	8. P(2 low value cards)
	9. P(one face card, one non)


Insurance pays 2:1, meaning if you bet $1 you can win $2.  Should you make this bet?  

The tiles in scrabble are below:
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You get first pick.  In case you didn’t know, you get 7 tiles.

Find the probability:

	P(all vowels)
	P(no vowels)
	P(at least 1 vowel):

	P(at least 1 high value letter(4 points and up)
	P(of getting the Q or the Z or both)

[think – this is the opposite of getting zero of them]
	P(at least one A)


� HYPERLINK "http://en.wikipedia.org/wiki/English_language"��English�-language editions of Scrabble contain 100 letter tiles, in the following distribution:


2 blank tiles (scoring 0 points)


1 point: E ×12, A ×9, I ×9, O ×8, N ×6, R ×6, T ×6, L ×4, S ×4, U ×4


2 points: D ×4, G ×3


3 points: B ×2, C ×2, M ×2, P ×2


4 points: F ×2, H ×2, V ×2, W ×2, Y ×2


5 points: K ×1


8 points: J ×1, X ×1


10 points: Q ×1, Z ×1











